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. Indian Navy commissioned its first
Advanced Light Helicopter Squadron
at Kochi in November 2013. What
is the name of the helicopter?

{a} Chetak
(b} Dhruv
(¢} Rudra
(d) Cheetah

2. Which of the following statements

about India’s unorganized sector
are true?

1. Labour is more in number than
that in the organized sector.

2, Job -security and work
regulation are better in
unorganized sector,

3. They are usually not organized
into trade unions.

4. Workers are usually employed
for a limited number of days.

Select the correct answer using the
code given below.

faj 1, 2 and 4
(b} 1, 3 and 4
(/) 3 and 4 only
(d) 1 and 3 only

3. Consider the following statements :

1. Battle of Buxar provided the
key to the English to establish
their rule in India.

2. The Treaty of Allahabad,
concluded in 1765, enabled
the British to establish their
rule in Bengai.
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Which of the statements given
above is/are correct?

fa} 1 only

(b} 2 only :
', =1y S D

{c/ Both 1 and 2 - .3

fd) Neither 1 nor 2

4. Corporation tax in India is levied on

income of a company. Which one
of the following does not include
Corporation tax?

fa) Profit from business
(b) Capital gain
fc}) Interest on securities

(d) Sale proceed of assets

5. The concept of hegemony is used

to understand the capacity to
‘manufacture consent’. Here
hegemony implies

1. class ascendency in ideological
spheres

2. deploying ideological resources
to shape behaviour of weaker
States/powers

3. provision of global public goods
by a dominant power

4. military dominance in relative
and absolute terms

Select the correct answer using the
code given below,

fa} 1 and 2
fb) 2 and 3
fc) 4

{d) 1 only
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6. On November 8, 2013, many people

died in Philippines after a super
typhoon ravaged the country. What
was the name of the typhoon?

{a] Haiyan
(b} Utor

fc) Phailin
{d} Nesat

7. Non-military Confidence Building

8.

Measures (CBMs} in a peace
process include

1. people to peaple contact across
borders

2, literary and cultural interac-
tion under governmental and
non-governmental agencies

increase in travel facilities

joint  initiatives to tackle
common socio-economic
problems

Select the correct answer using the
code given below.

faj 2 and 3 only
fb) 1 and 3 only
fc) 2 and 4 only
fdl 1, 2,3 and 4

In India, mergers and acquisition of

firms are regulated by

{a) National Manufacturing
Competitiveness Council

fb) Competition Commission of
India

fc) Security and Exchange Board
of India

{d} Department of Industrial Policy
and Promotion '
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9. Consider the following statements

regarding Indian Feudalism in the
early medieval period :

1. The revenue assignments were
called Bhoga,

2. The hereditary chiefs neither
collected revenues nor assumed
administrative powers.

Which of the statements given
above is/are correct?

(@) 1 only
(b} 2 only
fc} Both 1 and 2

fd) Neither 1 nor 2

10. The Fundamental Rights, enshrined

in Part Il of the Constitution of
India, “are inherent and cannot be
extinguished by any constitutional
and statutory provision”. This was
made clear in the case of

faJ A. K. Gopalan wv. State of
Madras

(b) 1. C. Golak Nath v. State of
Punjab

{c] State of West Bengal v
Committee for Protection of
Democratic Rights, West
Bengal

{d) Shankari Prasad Singh Deo w.
Union of India
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11. Consider the following statements :

1. The Jains  Dbelieved that
Mahavira had twenty-three
predecessors.

2. Parshvanatha was twenty-third
Tirthankara.

3. Rishava was immediate
successor of Mahavira.

Which of the statements given
above is/are correct?

fa} 1 and 2

(b} 2 and 3

fc) 2 only

fdj 3 only

12, Consider the following statements
regarding Indian Qcean Rim
Association

1. The 13th Council of Ministers
Meeting of the Association was
held in November 2013 in
Perth.

2. India was elected Chair of the
Association from 2013 to 2015.

3. There are twenty member
nations in the Association.

Which of the statements given
above is/are correct?

fa} 1 only
(b} 2 only
fc) 1 and 3 only

{d 1,2 and 3
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13. ‘Population dividend’ refers to
{a) total number of population

(b} youthful age structure of a
population

fe} relatively high proportion of
experienced aged people

(d} migration from richer region to
poorer region

14, Which of the following principles
is/are taken into consideration by
the Speaker while recognizing a
parliamentary party or group?

1. An association of members
who have an organization both
inside and outside the House

2. An association of members
who shail have at least
one-third of the total number
of members of the House

3. An association of members
who have a distinct programme
of parliamentary work

Select the correct answer using the
code given below.

(@) 1,2 and 3
fb) 1 only

f¢} 1 and 3 only
{d} 2 and 3 only

15. The Fourth Buddhist Council was
held in Kashmir under the
leadership of

{a) Bindusara
(p) Ashoka

{c} Kunal

{d} Kanishka
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16. Consider the following statements
about UN Frontline Workers Giobal
Leadership Award :

1. Martha Dodray, an auxiliary
nurse and midwife from Bihar,
was conferred the Award in the
year 2013,

2. Martha Dodray was awarded
for her dedicated service in the
bird flu affected areas of India.

Which of the statements given
above is/are correct?

{aj 1 only

{b) 2 only

f¢) Both 1 and 2
{cd) Neither 1 nor 2

17. Which one of the following
statements regarding the
Departmental Committee of the
Parliament of India on the
empowerment of women is correct?
{a) The Committee will consist of
members of the Lok Sabha
only

{b) A Cabinet Minister can be a
member of the Committee

{c/) The term of office of the
members of the Committee
shall not exceed two years

(d} It reports on the working of
welfare programmes for the
women

18. The University of Nalanda was set up
by which Gupta ruler?

fa) Kumaragupta II
(b} Kumaragupta |
{c) Chandragupta Il
(d) Samudragupta
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19. Which of the following statements

about Prof. C. N. R. Rao is/are
correct?

1. He is considered to be an
international  authority  in
solid-state and  structural
chemistry,

2. He is the first Indian to reach
the H-index of 100, reflecting
the economy of the body of his
published research work.

Select the correct answer using the
code given below.

fa) 1 only
{b) 2 only
{¢/ Both 1 and 2

{d} Neither 1 nor 2

20. Consider the following statements

about Sher Shah’s administration :

1. He divided his empire into
Sarkars, which were further
subdivided into Parganas.

2. The Sarkars and the Parganas
were directly administered by
Sher Shah without the help of
any other officials.

Which of the statements given
above is/are correct?

fa) 1 only
{b} 2 only
fc/ Both 1 and 2

{d) Neither 1 nor 2
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22. In

21. Consider the following statements :

1. B. G. Tilak founded the Home
Rule League in April 1916 in
Maharashtra.

2. N. C. Kelkar was not associated
with Home Rule Movement.

Which of the statements given
above is/are correct?

faj 1 only
(b} 2 only
fc¢) Both 1 and 2

(d) Neither 1 nor 2

India, contribution of food
inflation to overall inflation is
around %rd to %th‘ Within food
inflation, contribution of food
articles is higher because price rise

in food articles is

(a) higher and their weight is
also higher compared to food
products

fb) higher but their weight is lower
compared to food products

fc) lower but their weight is higher
compared to food products

(d} lower and their weight is
also lower compared to food
products

B-ABQA-N-FJM/46A
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23. What do you understand by the.term

‘propaganda’?

1. It is an unverified story that
is spread from one person to
another, :

2. It is communication tailored to
influence opinion.

3. It is an enthusjasm among a
relatively large number of
people for a  particular
innovation,

4. It is a tool of oration used only
by political parties.

Select the correct answer using the
code given below.

fa) 2 only
(b) 1 and 2
{c/ 2 and 4

(d) 1,3 and 4

24. The Annual Financial Statement of

the Government of India in respect
of each financial year shall be
presented to the House on such day
as the

fa) Speaker may direct

(b} President of India may direct
(¢} Parliament may decide

{d) Finance Minister may decide

25. The social ideals of Mahatma Gandhi

were first put forth in

{a}) Hind Swaraj

(b} An Autobiography—The Story of
My Experiments with Truth

c) History of the Satyagraha in
South Aftica

(d} The Bhagavad Gita According to
Gandhi
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27. The

26. Carefully read the following passage

and identify the person referred to
in that :

Her best known works are ‘The
Golden Notebook’, ‘Memoirs of a
Survivor’ and ‘The Summer Before
the Dark’, She was the oldest
recipient of the Nobel Prize in
Literature.

(a} Alice Munro
(b} Doris Lessing
(¢ Herta Muller

(d) Elfriede Jelinek

subject matter of an
adjournment motion in the
Parliament

1. must be directly related to
the conduct of the Union
Government

2. may involve failure of the
Government of India to
perform its duties in
accordance with the
Constitution

Select the correct answer using the
code givent below.

{a} 1 only
fb} 2 only
{c) Both 1 and 2

{d) Neither 1 nor 2
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28. Share of food in total consumption

expenditure has been coming down
as per capita income grew over time
in last sixty years because

(a) people have been purchasing
less food

(b) people have been preferring
non-cereal items in their food
basket

{c) growth in food expenditure has
been lower than growth in per
capita incomne

{d) percentage of the poor in
population has increased over
time

29. Consider the following statements

about Syed Ahmed Khan, the
founder of Muhammadan Anglo-
Oriental College, Aligarh :

1. He was a staunch supporter of
Indian National Congress.

2. Muhammadan Anglo-Oriental
College was set up with the
objective of promoting learning
of Islamic education among the
Muslims.

Which of the statements given
above is/are correct?

{a}) 1 only
(b} 2 only
(¢/ Both 1 and 2

{d) Neither 1 nor 2
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30. Political theory

L.

the
that

deals with
principles
Constitutions

and
shape

ideas

clarifies the meaning of
freedom, equality and justice

probes the significance of
principles of rule of law,
separation of power and

judicial review

Select the correct answer using the
code given below.

(a)
(b)
(c}
(d)

1 and 2 only
1 only
2 and 3 only

1, 2 and 3

31. Which one of the following
statements about Rig Veda is not
correct?

fa)

(b)

(c)

(d)

Deities were worshipped
through prayer and sacrificial
rituals

The Gods are presented as
powerful, who could he made
to intervene in the world of
men via the performance of
sacrifices

The Gods were supposed to
partake of the offerings as they
were consumed by the fire

The sacrifices were performed
in the temples

B-ABQA-N-FUM/46A

‘14

32. Classification of an enterprise into
public or private sector is based on

(a)

(b}

fc)

(d)

number of employees in the
enterprise

ownership of assets of the
enterprise

employment conditions for

workers in the enterprise

nature of products manufac-
tured by the enterprise

33. Consider the following statements
about Democracy :

1.

It consists with the formation
of government elected by the
people.

In democracy, those currently
in power have a fair chance of

losing.

Each vote has one value.

Which of the statements given
above is/are correct?

(@)

(b}

(c)

(d)

1 and 2 only

1, 2 and 3

1 only

2 and 3 only
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(b) d|aret & wieemelt el e
T R, R a9 gEEl % wemw g,
I3t & GER § gaen 3g e
o < e 2

(c) @ men s a fR oSt oard afy
TN STYF B ¢ I@ adedl g
TR Tk s @

(d) ag wf=a & v e e &

B-ABQA-~-N-FJM/46A
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32. wEstE stvar feft s & fordft sam &

TeRTu 1 T STUR 7

fa) I # FHaTfeE i gen
(b) ITW F wREHRE & @i
{c) mﬁmﬂmﬁ%@ﬁmmmﬁl

(@) 3 g faffhla el & e

33, diFad & ar ¥ Pefafe sat ® e

it ;

1. T @ g el aen w e
gl 21

2, wFaa d, adem f gaE @ %
A 6 TE FH 2t ]

3. YAF WA & I -8 S 2

39T FoAl # ¥ PR-w/a T /80
(a) il&mamﬂtz

b 1,23Mm3

fc) “%ad 1

(d) Fad 2 3 3

[P.T.O.




34. Which of the following nations were
recently suspended with regard to
the voting rights by the UNESCO for
not paying their dues to it?

1.

2.

3.

4.

USA
Israel
Iran

Iraq

Select the correct answer using the
code given below.

(a)
(b)
(c)

{d)

35. Which

1,2, 3 and 4
1 and 2 only
2 and 3 only

3 and 4 only

one of the following

statements about ancient Indian
Mahajanapadas is correct?

(@)

(&)

{c)

(d)

All Mahajanapadas  were
oligarchies where power was
exercised by a group of people

All Mahajanapadas
located in eastern India

were

No army was maintained by
the Mahajanapadas

Buddhist and Jaina texts list
sixteen Mahajanapadas

B-ABQA-N-FJM/46A

16

36, Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-1 List-IT
(Personj (Role in making of
the Constitution of
India)
A. Rajendra 1. Member, Drafting
Prasad Committee
B. T T. 2. Chairman,
Krishnamachari Constituent
Assembly
C. H. C. 3. Chaimman,
Mookherjee Drafting
Committee
D. B. R. Ambedkar 4. Vice-Chairman,
Constituent
Assembly
Code :
fa) A B C D
: 2 1 4 3
b} A B C D
2 4 1 3
fc} A B C D
3 4 1 2
(d} A B C D
3 1 4 2

37. Heena Sidhu, who recently won a
World Cup Gold Medal for India, is
associated with

(a)
(b)
(c)
(d)

Shooting
Archery
Weightlifting
Boxing

38. The only inscribed stone portrait of
Emperor Ashoka has been found at

faj
(b}
{c)
(d)

Sanchi
Amaravati
Kanaganahalli
Ajanta




34, fiafafes ot 4 4 f6f UNEScO %

Yo H YT T HA F FR0 g A A
UNESCO g1 varferer @ fafem fen
T Wt

1. go Tho To
2. TWEA
3. A
4. TH

= R & =1 W@ = wd I
Tl

@ 1,2, 334
(b) Fad 1 3 2
{c) FHad 2 3R 3

(d) Fad 3 3R 4

35. Y widE  ‘AgmEwEr F O aR #
Fatafas saat # @ w9-w @d 27

{a) @ TEAYE ydHa 2, W&l whe
WA AN h T TR g feEE
SR

() ®f AEreaR gl wig | oafRm @
fc) WESHTR HIE | T @ &

(d) $g @ I gt § Ao wEeEwE
a?rzgﬂaa%mw%_

B~-ABQA-N-FJM/46A
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36. -1 F G-I & iy gufem ffw o

giat & A= fiw 7T g2 = owEm W ad
Sﬂgﬁ'ﬂ::
-1 ei-11
(=afe) (vRa % sl ®
' A U wyfirT)
. TSR YT 1. HE, IEIW
wffa

. Bo o FumEE 2. A, wlaum

Rl

. o Hio st 3. Ay, wrEam

whafa
. fto 3o spTR 4, Iureny, dfawm
1
e :
@@ A B C D
2 1 4 3
() A B C D
2 4 1 3
¢/ A~ B C D
3 4 1 2
d A B C D
3 1 4 2

37. fom Ry, "R o @ & e & fo fow

Fq @ 9eF S R, e ©@w 8 ey
Tt &7 _

(o) et (gfém)

(b) RIS

(c) SR

(d) ge=s

38. TUIZ 31T I THAE Iehivl Rren wufam

el g0 T R
(a) i

(b) STEH

(c) HATEG

(d) ==

{P.T. O.




39. The citizenship means

1. full civil and political rights of
the citizens

2. the right of suffrage for election
to the House of the People (of
the Union) and the Legislative
Assembly of every State

3. the right to become a Member
of the Parliament and Member
of Legislative Assemblies

Select the correct answer using the
code given below.

(@) 1 and 2 only

(b} 1 and 3 only

fct 2 and 3 only

fd 1,2 and 3

40. The Committee on Public Accounts
under the Constitution of India is
meant for

1. the examination of accounts
showing the appropriation of
sums granted by the House
for the expenditure of the
Government of India

2. scrutinizing the report of the
Comptroiler and Auditor
General

3. suggesting the form in which
estimates shall be presented to
the Parliament

Select the correct answer using the
code given below.

fa) 1 only
(b} 2 only
f¢J) 1 and 2 only

{d) 1,2 and 3

B-ABQA-N-FJM/46A
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41. Which one of the following was a

temple built by the Chola Kings?

fa} Brihadiswara Temple, Tanjavur

+(b) Meenakshi Temple, Madurai

{c} Srirangam Temple,
Thiruchirapalli

{d) Durga Temple, Aihole

42. Which among the following was the

reason of the resignations of the
Indian ministers in all the provinces
in the year 19397

(¢} The Governors refused to act
as constitutional heads

{b} The Centre did not provide the
required financial help to
provinces

{c} The Governor-General converted
Indian administration from
federal to unitary one because
of the beginning of the Second
World War

fd} India was declared a party to
the Second World War without
the consent of the provincial
governments




39, mitwa = ard ®

1. e & @ fafde @ oefes
aftrwr

2, W% | (F9 fi) st w ™ #
faym mw & fatm & fag
R GUDEAT

3. Tue AR faum awiett = ged w1
1 R

e Ry T R W W@ F S TN
EEyl

(a) FE 132
(b) ¥ 1 ¥R 3
c) Fad 233
(d) 1,233

40. WA & dfum & a3dia ot o affa
frafere Bt 27

1. e g0, YWd WHR % =1 % fau,
T T argeEt % faftam @ gwii
T gt F |q" HE

2. frEw-wewmhys o Ru omw
ooy Y weftem s

3. gomE 3 gue A et @ e
W ® wga foran smam

R few mo o Fe w1 owEm W oG I
g

{a) HF 1
(b) HEA 2
) Fac 132
d) 1, 23Wm3

B-ABQA-N-FJM/46A : 19

41. Prafafae & @ =9-w1 o =9 T=net g
A T AR et

(o) Fedw uf=y, FamER

) e =, e
(c) it =, fafaood

(@) gt A=, e

42, 9§ 1939 & @} wr<i & wedha Wi g
e 3% w1 fefafeg 4 @ $v-a@
FR U17

(@) Taqrel ¥ wifyanfe me & &g 8
FH FH QTR F e o

(b) FE A TR K AEvEF ™
el T8t vl # ot

) 5w R g8 g 1 %
TER-SAE A AT WmET
=g A oFens | qfEafda = e
o1

(d) W Tl @ weR % e,
ya # i g 3@ = veen
qifba & f&ar man e

[P.T.O.




43. The Union Ministry of Environment

and Forest recently approved in
principle a proposal for Western
Ghats Development prepared by
K. Kasturirangan-led panel. The
panel has recommended a ban on
development activities in around
60000 sq. km ecologically sensitive
area spread over

(a) Gujarat, Andhra Pradesh,
Tamil Nadu, Maharashtra,
Kerala and Karnataka

(b} Gujarat, Maharashtra, Goa,
Karnataka, Kerala and Tamil
Nadu

(¢} Odisha, Maharashtra, Goa,
Kerala, Andhra Pradesh and
Tamil Nadu

(d) Karnataka, Odisha, Gujarat,
Kerala, Maharashtra and
Tamil Nadu

44, The legislative power of the

Parliament includes making laws

1. on matters not enumerated in
the Concurrent List and State
List

2. in respect of entries in the
State List if two or more
State Legislatures consider it
desirable

3. for implementing any treaty,
agreement or convention with
any country even if it falls in
the State List

Select the correct answer using the
code given below.

{a) 2 only

(b} 1 and 2 only
fc} 1 and 3 only
{d 1,2 and 3

B-ABQA-N-FJM/46A
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45. Match List-I with List-Il and select
the correct answer using the code
given below the Lists :

List-I - List-II
(Temple) (Town)
A. Kailasanathar 1. Bhubaneshwar
B. Lingaraj 2. Khajuraho
C. Kandariya 3. Mount Abu
Mahadev
D. Dilwara 4. Kanchipuram
Code :
fa) A B C D
4 2 1 3
(b} A B C D
4 1 2 3
fc) A B Cc D
3 1 2 4
{d A B C D
3 2 1 4
46. Inclusive growth’is a phrase used in
India’s
1. 6th Plan
2, 10th Plan
3. 11th Plan
4. 12th Plan

Select the correct answer using the
code given below.

(@) 1,2 and 3
{b) 2 and 4
fc) 3 and 4
{d) 4 only

47. Who among the following was not
associated with the activities of the
Theosophical Seciety?

(a} Madame H. P. Blavatsky
() Mr. A. O. Hume

fc) Col. H. S, Olcott

{d} Mrs. Annie Besant




43. gty Y@ @ 99 AaeE ¥ g & §
qfert w= fowm & fon %o FQiom &
Agm T ¥ TN d9R fre e e R
A~ &1 9 FgRifed e 21 39 e
I wnm 60000 1 fhe e *
gifeafis =1 4 waetia a9 § fawm
niefafert W ey 6 ergaa A ) Tw

& T At o Se 87

(o) TWE, AFY WeW, AMTATg, WL,
e I Flew

{b) TSWId, WERTY, a1, FAfew, S
A afyeg

c fgm, wEwE, W=, =,
ATY TRoW 3R afterg

(d) FAe®, e, TERE, Hd,
TERTY IR qferTg

44, gue & fqurht wiw 3 Rftmi s
| aftifera &

1. wadt gt o oo g d
o fordt oft foem o

2. TsE g i et & weew b,
e Q @ e Tl & faursa
T ToE AR

3. Tt 2w & ww i # Red G@fy,
X q ANGE F FEEH F
fore, wR a8 Tew o= e @

fo fow T oE W oW W oEE FTW
I |

(a) Faa 2

(b) Faw 1 3T 2

fcj) a1 AR 3

(d 1,233
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45. -1 ® G-Il & "y ghfea Hikm 1k

46.

g % 1 Re R = o =Ed
mgﬁq:
-1 =11
(wf=x) (&)
A. AT 1. yaat
B. fomr= 2. @I
C. Herial werd 3. W I,
D. fewmmst 4. FHEIYH
ETR
f@@ A B C D
4 2 1 3
() A B C D
4 1 2 3
f/ A B C D
3 1 2 4
dg A B C D
3 2 1 4
‘wuasht "@3fg’, S W g &, W@
o /o A () 9 v g 27
1, Tt g
2. CEaEl A
3. WREH e
4, REdl T
2 R wmw gz & i w=oud IW
g
(@ 1,2 3R3
(b) 23 4
c) 334
(d) H99 4
47. feafafan 4 @ |9 denwfera qad
% nfafafiet @ gmafe =l a7
(a) TS o o sl
(b) ﬁo‘Qoa‘ﬁoﬁE}
fc) FAT TRHo THo IeHIE
(d) =imet of 9

[P.T.O.




48. There are provisions in the
Constitution of India which
empower the Parliament to modify
or annul the operation of certain
provisions of the Constitution
without actually amending them.
They include

1. any law made under Article 2
(relating to admission or
establishment of new States)

2. any law made under Article 3
{relating to formation of new
States)

3. amendment of First Schedule
and Fourth Schedule

Select the correct answer using the
code given below.

{a) 1 and 2 only
(b) 2 and 3 only
¢/ 1,2 and 3
{d} None of the above
49. Which of the following is/are the

objective(s) of ‘Mahatma Gandhi
Pravasi Suraksha Yojana'?

To encourage and enable the
overseas Indian workers by giving
Government contribution to

1. save for their return and
resettlement

2. save for their old age

3. obtain a life insurance cover
against natural death for the
entire life of the worker

Select the correct answer using the
code given below.

fa} 1, 2 and 3
(b} 1 and 2 only
{c) 1 only

f{d} 2 and 3 only

B-ABQA-N-FJM/46A
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50. The Society of Jesus, whose followers

were called Jesuits, was set up by
fa) Martin Luther

(b} Ulrich Zwingli

fc) Erasmus

{d} Ignatius Loyola

51. The functions of the Committee on

Estimates, as incorporated in the
Constitution of India, shall be to

i. report what economies,
improvements in organization,
efficiency or administrative
reform may be effected

2. suggest alternative policies in
order to bring about efficiency
and economy in administration

3. examine whether the money is
well laid out within the limits
of the policy implied in the
estimates

4. examine the reports, if any, of
the Comptroller and Auditor
General on the  public
undertakings

Select the correct answer using the
code given below.

fa} 1 and 2 only
(b) 2 and 3 only
fc) 1,2 and 3

{d) 3 and 4




48. WA ¥ Tfum # 10 Ju=y £, | gE F
afuH & $© Il & Yaod &1, B
qree § IR YA feu, surdf@ @
Fremnfas w0 ¥ f5u gwe w1 )1 3
et &

1. gwdg 2 & oFvig =% TE
fafa (Fu v=i = w@w = = A
TrE-a)

2. IR 3 & JWIA §E T F
fafty (g usat % Fwin & T=fm)

3. T s ik eh s W
w

= v g W wm W o W
g

(a) ohed 1 32

(b} Fae 2 33

(¢ 1,233

(d) v & & = T

49, ‘mgrem Wit WEER W ASA F/H

frafafea & @ =9-w1/7 )W /87

T oveH I fare sl e

&I Wiewiea 3K gad

1. 37 amt o grate Bg 990 W
% fere

2, ITh GEEEN g TG A h fAQ

3. waR & R g & fog, i
Tg & uia s offm oawm F &
ferg

™ R oHe W @ W T SW
g

(a) 1,233

(b} a1 3K 2

c) Fad 1

(d) a2 33
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50. "uEd ¥Hiw Sfow, foms sgar Swge

weend }, Bred vl i A7
(a) WA gt

(b) 3 fearett

(c) TE

(d) FTRTE @

51. G & Hfayw & TUEmiaE, e af

& F H1EM?

1. 38 9 gfaaeq e 1 s fiasafi,
e § guw, @O A IRIEHE
UR TR S Tl

2. vy # gar o fra=fm @ &
fore Srfedrs Aiferdt 1 gama &

3. g viien &6 f% = w9yl o
fafza Hifa K dimiedl & are o=t
R 9 forar T

4, TFos-mEreEias & e IEa
w wide, aR % 2, = afiawm
Eac)

f= Ru mu g2 & W W wE SW
Tl

{a) Faa 1MW 2
(b) Faa 23k 3
¢ 1,23M3

d) 33 a

[P.T. O.




52. The principle of ‘collective
responsibility’ under parliamentary
democracy implies that

1. a motion of no-confidence can
be moved in the Council of
Ministers as a whole as well as
an individual minister

2. no person shall be nominated
to the Cabinet except on the
advice of the Prime Minister

3. no person shall be retained as
a member of the Cabinet if the
Prime Minister says that he
shall be dismissed

Select the correct answer using the
code given below.

fa} 1
(b) 2 only
{c) 3 only

{d} 2 and 3

53. Consider the following statements :

1. Forming a cooperative society
is a Fundamental Right in India.

2. Cooperative societies do not
fall within the ambit of the
Right to Information Act, 2005.

Which of the statements given
above isfare correct?

{(a) 1 only
(b) 2 only
fc/ Both 1 and 2

fd) Neither 1 nor 2

B-ABQA-N-FJM/46A
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54. Consider the following statements

concerning the initial phase of the
Industrial Revolution in England :

1. England was fortunate in that
coal and iron ore were
plentifuilly available to be used
in industry.

2. Until the eighteenth century,
there was a scarcity of usable
iron.

Which of the statements given
above isfare correct?

{a) 1 only

(b} 2 only

fc) Both 1 and 2
(d}) Neither 1 nor 2

55. Certain Bills cannot be introduced

or proceeded with unless the
recommendation of the President is
received. However, ne recommenda-
tion is required in some other
cases. In which one of the following
cases such recommendation is not
required?

{a) For introduction of Bills and
for moving amendments
relating to financial matters

b} For introduction of a Bill
relating to formation of new
States or of alteration of areas
of existing States

{¢c) For moving of an amendment
making provision for the
reduction or abolition of any
tax

{d) For introduction of a Bill or
moving of an amendment
affecting taxation in which
States are interested




52. R Awdd % oA “aife S
& frgra = 7 ffeand @7

1. ubmfwg & R w9 #, @9 € WY
wa o ¥ w1 0, FR afam-
TETE ST ST Eehal 81

2. tfywea # R =l =1 v
A war % B awfale of e
Eik:eTal

3, dimvsa AP AF TR FTH
=81 T = e, AR quEEs FE T
5 39 JrEra o G smem|

2 fu m g W owWEm W W
ghm|

@ 1

(b} ¥ 2
(c) e 3
(d) 233

53, Frfefaa s ® famm fifm

1. wEFT QAT S ARA 7 T HH
aAferwR R

2. wewld Wl gEW % e
atfufem, 2005 #it oftfn &
arrdl 81

IFE FoEl § @ FH-T/A W /e
(a) Hae 1

(b) 2

) 132

d T/ 1mAA2
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54, 3z # Mfm FR F o o &

oy 1 fiafafiga sl = faam Fifsw

1. e vmoEme o fon SR ol @
I T § TR w F e
wafy AE o 3Ty 9|

0. IENEdt YA 9% WA @g
AT A1)

0w syl § @ S3-91/3 a9 /87
{a) I 1

(b} F@ 2

) 132

) @ 1A 2

55. Fo fadTal & QT T I T @

wora, 99 9% T3 Tgufy i whah T e
S| quld, F& o mwen # fond
wigfy # smawdm A4 gl Pl
§ ¥ we-2 ame § ue =il @

JTTETaFAl A9t 87

{a) B fwdl @ oefm gt &
Qa3 EEEE R T
w1 & fon

(b) T Tl F i a1 adwA w=A &
et & afeds 4 v=fm fadws %
g(wm%%q

(c) Treft o & WER WM IWEA FA 7Y
IUY SR H SEYA YETEG F
&+ forg

(d) Tt fadms & Qe @ Eme
wfad F9 F fog st | wuue
W e T, T et o R

[P.T.O.




56. Consider the following statements
about Pragati missile system of
India :

1. It is a short range solid fuel
missile system.

2. It has all weather day and
night  operational launch
capability.

Which of the statements given
above is/are correct?

fa) 1 only
fb) 2 only
fc) Both 1 and 2

{d} Neither 1 nor 2

57. Consider the following statements
about the First Session of the
Indian National Congress :

1. It was held in Bombay in 1885.

2. Surendranath Banerji could
not attend the Session due to
the simultaneous session of
the Indian National Conference.

Which of the statements given
above is/are correct?

{aj 1 only
(b} 2 only
(c/ Both 1 and 2

fd} Neither 1 nor 2

B-ABQA-~N-FJM/46A
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58. After a Bill has been passed by

the Houses of the Parliament, it is
presented to the President who may
either give assent to the Bill or
withhold his assent. The President
may

fa) assent within six months

(b) assent or reject the Bill as soon
as possible

{c/ return the Bill as soon as
possible after the Bill is
presented to him with a
message requesting the House
to reconsider the Bill

(d} withhold his assent even if
the Bill is passed again by the
Houses '

59. Consider the following statements

about Indira Gandhi Prize for
Peace, Disarmament and Develop-
ment

1. Angela Merkel, Chancellor of
Germany, was selected for the
Prize for the year 2013,

2, The award is accorded
annually to individuals only.

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

{c} Both 1 and 2

(d) Neither 1 nor 2

60. According to the Companies Act,

2013, ‘nominal capital’ implies

fa) such part of capital, which has
been called for payment

(b} the maximum amount of share
capital of a company

{c) such part of capital, which has
been received by a company
from its shareholders

(d) such capital as the company
issues from time to time for
subscription




56. Wd & ‘T’ wdwome yopeht ¥ SR H#
fiafafigs St W fF=r Fiw

1. 7= U 3d TUd 3 S wamR
gorrett B

9. o gt demi A ot wa whEm
wHEA T R

3o ol A & w-/A we /%7
{a) Ha& 1

(b) FIE 2

¢} 132

fd) ad1afad2

57. W W wEE ¥ vow aftE e &
A Fraforian et w fem $ifs

1. 92 1885 H wwag § g1 L

2. vdlg THE WRleM & WNEe
AT A & wW GEEAY awe
zg wiftAye § Iufem 7€ & o A

94 Fomt § @ BA-T/A W R/ET
(@} FFA 1

) e 2

(c) 1 3022

(@ Ad13MmI&H2
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58. frdi fytas % due ¥ wedl g wiw R

W ¥ Uy, 38 el % WY wEd
Frar wmar 2, S 39 fdme w @ Al
argefa 3m a1 srgmfa I ) ogald
(a) AR D M F ofie 2 e 2
(b) i W& @ fadEe s
TorgETe YiY R HeRal §

(c) Taias = ok ang v feg R
F gyw, 39 fatms & Fuwee
iy 39 ¥39 &% WY oier T @
w2 fades w AR N

(d) we g R w @ wia e
aM ¥ aE off o el O
Hohell &

59. WA, faeiewo oft foFm % fom sRu

et qeeRn & s # fafafem st @

femm $ifsm

1. @% 2013 & g % fog S
b, ST & SHER & A T

2. 78 QR o o @ sfwl @
& s1gex form ST 21

It et § A FA-H1/R TE 2/R7

(a) Faa 1

(b) Fad 2

) 132
(@ Fd1sRad2

60. Frrt arfufiem, 2013 % ogER, “wfifia

IS’ . Fn fafamt 87

(o) Tt w1 a8 R, stoEEE % R
Hir foren R

(b) Tl g Y SR et ol srfteRan
T&H

(c) Th @ = e, st 3 o
eyl | I e R

(@ T 9, S oE wEeeE ®

Afem ¥ form s =t 2

[P.T.O.



61. “The Draft Constitution as framed

only provides a machinery for the
government of the country. It is
not a contrivance to install any
particular party in power as has
been done in some countries. Who
should be in power is left to be
determined by the people, as it
must be, if the system is to satisfy
the test of democracy.”

The above passage from Constituent
Assembly debates is attributed to
{fa) Pandit Jawaharlal Nehru

(b} Dr. B. R. Ambedkar

f¢) Maulana Abul Kalam Azad

{d) Acharya J. B. Kriplani

62. Which of the following statements

are correct regarding Joint Session

of the Houses of the Parliament in

India?

1. It is an enabling provision,
empowering the President to
take steps for resolving
deadlock between the two
Houses.

2. It is not obligatory upon the
President to summon the
Houses to meet in a joint
sitting.

3. It is being notified by the
President.

4. It is frequently resorted to
establish the supremacy of the
Lok Sabha.

Select the correct answer using the
code given below.

fa) 1 and 2 only

(b} 1,2 and 3
{c/ 2 and 3 only
{d] 3 and 4

B-ABQA-N-FJM/46A

63. Match List-I with List-Il and select

the correct answer using the code
given below the Lists :

List-I List-I1
{Text) {Author)

A. Kitab-al Hind 1. Ibn Battuta
B. Rehla 2. Al-Biruni
C. Humayun Nama 3. Lahori

D. Badshah Nama 4. Gulbadan Begum

Code
fa} A B C D
2 4 1 3
) A B C D
3 1 4 2
b A B C D .
3 4 1 2
d A B C D
2 1 4 3

64. Which of the following statements

in the context of structure of the
Parliament is/are correct?

1. The Parliament of India
consists of the President, the
Council of States and the
House of the People.

2. The President of India is
directly elected by an electoral
college consisting of the elected
members of both the Houses of
the Parliament only.

Select the correct answer using the
code given below.

fa) 1 only

(b) 2 only

fc¢/ Both 1 and 2
fd} Neither 1 nor 2




61. ‘Giyum = wew Su i e T R,

98 Fdd 20 & e F o d9 Ieeeu
Fual &1 9z wa § e Rdw = =
i w0 A wgfe 7@ 2, @ & 5o
2t A R T R W A AR, W
a1 % fafgad og & mn R, s 6
g € wfen, Ak 3@ 9w @ER
qhege w Ta I &l

wftrem Pt o 3 fraw-Reel @ 33ya
I aftsde w1 A fR 27

(a) WTEH AR AT®
(b) Eio dfto IR0 ITITH
(c) T YA FAW G
() = o Mo FaAH:

62. WG § TEE F Al w1 UGH AT F

an & fefafes st § @ =9-8 @

E41

1. B I "R & o= nfRw F
e ¥ ®ed oM % forg wyufa
F WIRE B aTE TRYE I9TY B

2. ugw do% 4 ofnafhe % fm

gl W oamgm w WgER 9

g e R

3. @ Tgale go sftgRe fFn s
Rl

4. @F Bl FEan e e
ya: T A forn e R)

= R M T w1 W@ W EE TN
gl

(a) Faw 132

(b) 1,233

() Fa@ 23R 3

(d) 3 3R 4
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63. G-1 | G-I & | gafem A 3

gfwt & i fig T g W o W EE
mgﬁq:

-1 -1

(u) (vrEr=)
A fram-s@fer 1 = aq@
B. & 2. ¥a-feeh
C. gurAm 3. @l
D. e 4, TEE ST
e
@@ A B C D

2 4 1 3
m} A B C D

3 1 4 2
) A~ B C D

3 4 1 2
d A B C D

2 1 4 3

64. ToT & o= & g4 # P=fafaa s

Q4 9-91/] ad §/87

1. 9Rd < wee, Tyafd, T w9 a
T @91 | SR 2

2. ¥R % Ul w1 yeaw Pata o
frates nvea g B smar @, S
Fad WEE & gt gl & faita
et ¥ € s g

= Ru T gz W WM W @ IW

iy

() Fad 1

(b} =@ 2

) 1322

([d} Fd1 A2

[P.T.O.




65. Internal Security Academy is located
at
{a} Nashik
(b} Mount Abu
{¢} Hyderabad
{d) Pune

66. Which one among the following
was not a proposal of the Cabinet
Mission, 19467
fa) The Constituent Assembly was
to be constituted on the
democratic principle of
population strength

b} Provision for an Indian Union
of Provinces and States

fc) Al the members of the
Constituent Assembly were to
be Indians

{d} British Government was to
supervise the affairs of the
Constituent Assembly

67. Which of the statements relating
to the Deputy Speaker of the Lok
Sabha is/are correct?

1. The office of the Deputy
Speaker acquired a more
prominent position after the
enforcement of the Constitution
of India in 1950.

2, He/She is elected from
amongst the members,

3. He/She holds office wuntil
he/she ceases to be a member
of the House,.

Select the correct answer using the
code given below.

fa}) 1 only

{b) 1 and 2 only

fcg 1,2 and 3

() 2 and 3 only
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68. Consider the following statements
from Kalhana’s Rajatarangini :

1.

The common people ate rice

cand  Utpala-saka {a  wild

vegetable of bitter taste).

Harsha introduced into
Kashmir a general dress
befitting a king which included
a long coat. .

Which of the statements given
above is/are correct?

fa) 1 only

(b) 2 only

fc) Both 1 and 2

(d) Neither 1 nor 2

69. Which of the following statements
relating to Comptroller and Auditor
General in India is/are correct?

1.

He/She is not an officer of the
Parliament but an officer under
the President.

He/S8he is an independent
constitutional authority not
directly answerable to the
House.

Select the correct answer using the
code given below.

fa) 1 only
(b} 2 only

fc} Both I and 2

{d) Neither 1 nor 2




65, 3Tt YA It Fa srafeem 27

(a) T
(b) HISZ 3T
(c) THER
(d) T

66. g & ¥ FH-E1 @ Ffade e,

1946 = Tsh Y&Td TEl A7

(o) oraite SEEn wfe fEg &
YR T HAYE @91 1 T R
T o1

(b) W TE TSE % TH AR WY %
foru Jusry

(c) Tfum o & et el A vRd
BT o1

(d) GhRae w % sEwed & fafen
TR g1 T fF S o

67. W T ¥ Ty ¥ @A FH-H/A

FuA wdl 3/3?

1. 1950 # wndm wfaum & wafda
W F TR IqEH F 98 F K
Al TE ®E WW ATl

2. zaw TElew = F = 8 @
g 2|

3, 9 W@ W 9@ d% WA/ W@
weAl/aedl B WW @ A8 W
&1/ T e 1/ '

2 g T 2 = WM W wd IW
3T

fa) ¥ 1

(b) Fae 1 3 2

¢ 1,233

(d) Fae 2 3 3
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68. Tzn H gawireh @ fau m f=talae

FeAt | e i -

1. WM WA TEE qY IO-T
(F54 @R A TF el F=) TR
ol

2. @ } oyt § w Ui o de
T& H, A wn H& w2, el
T Tl FIE WM o7

IR Ul | @ w1/ wE /R0
fa) ¥ 1

(b) Fa 2

fc) 1323

[d A 1MmAf2

69. WA ¥ Peaw-meETiyE F Ty #

frafafgs w3 @ FR-w/8 @
?/&

1. a8 g6e =i/ s aferd 7
W uEyfa & onf v TRt @1

2. 9% TH% W3 "wawie wmived 2,
S Y wue F i wEEeE T8 2

= Ry T Fz W WM W FEH IV
g

fa) Fad 1

(b) a2

¢ 122 aA
(d @ 1A 2
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70. The Departmental Committee of
the Parliament of India on
the Welfare of the Scheduled

Castes (SCs} and the Scheduled

Tribes (STs) shall

1. examine whether the Union
Government has secured due
representation of the SCs and
the STs in the services and
posts under its control

2. report on the working of the
welfare programmes for the
SCs and the STs in the Union
Territories

Select the correct answer using the

code given below.

(a} 1 only

(b) 2 only

{¢) Both 1 and 2

fd) Neither 1 nor 2

71. Consider the following statements :

Statement [ :
Clay layers are poor aquifers,
Statement 11 :

The inter-particle space of clay
minerals is the least.

Select the correct answer using the
code given below.

(a) Both the Statements are
individually true and
Statement II is the correct
explanation of Statement 1

Both

(b) the Statements are
individually true but
Statement II is not the correct
explanation of Statement I

fc) Statement 1 is true but

. Statement II is false ‘

(d) Statement 1 is falser but

Statermnent 11 is true
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72,

73.

Dowp

Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-II
{Irrigation/ Power (River)
project}
Bhakra Nangal 1. Bhagirathi
Dul Hasti 2. Mahanadi
Hirakud 3. Chandra
Tehri 4. Sutlej
Code .
fa} A B C D
4 2 3 1
) A B C D
4 3 2 1
0 A B C D
1 3 2 4
A A B C D
1 2 3 4

Which of the following statements
is/are correct regarding fats?

1. Fats are needed for the
formation of cell membrane.

2. Fats help the body to absorb
calcium from food,

3. Fats are required to repair
damaged tissue,

4. Body cannot release energy in
fats as quickly as the energy in
carbohydrates,

Select the correct answer using the
code given below.

(a)
(b)
fc) 2 and 4
{d} 3 and 4

1 and 4
1 only




70, sqgive Wk w gEiw W ¥
Hea sy f T d fauriy
sl

1. 3T F 0w &l F e g
TWHER 3 3 o aweft daet @

vl w sggfm Tfedt qw sggie
sl w1 aedm sk
gffem e 2

2. ¥9 Teusnl § rggfyd it @

srggfom et g S S @
FETRD wriE % HE-gEEn
T ieaE Yoo il

= Ry M oE W WET W G IW

i)

(@) a1

(b) F= 2

fc) 132 3H

(d adisad2

71. Fiefafad st W ReEm ik
Y1
TR W Y SIEYd B B
YA II :
qug @RSt § v EHN I
g B
9 RT W g WM W AR W
BN

(@) 3 %R =fE: v § o W 11,
99 [ 1 G TR §

(b) 2Ft FoE =fdw: wwm § Beg waw
11, %9 1 1 G Tt i 2

(c) 0 1dA g g $9R 11 3 8
d) FHIdEa g am I e @
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72. gA-1 F FHA-1 & a1 gafem Hifam =i

gfet % 2 e e g2 v = oad
:ﬁtgﬁq: '
w=fi-1 aefi-11

(R /wifts afatem) ()
A @S TS 1. il
B. g& g&h 2. TR
C. AT 3. =
D. 2 4. HAGH
F
{a) A B C D

4 2 3 1
(b} A B C D

4 3 2 1
fc) A B C D

1 3 2 4
(d A B C D

1 2 3 4

73. T@ @ uetug fEfRe wwEt § @
-T2 o B/

1.

Hf¥E-Hen i A & forg amret
F EvEma et R

T @ # ¥ SR & "y
H0 T 7l ht Aee HE §)

gftme sk w1 guRt # s
ATITEF Bt 2 |

v, FEreil # IR e @ I
AfE 78 = gad Fad digm ¥
FTATERIE I W T 81

Y Re T F W oW W R TN
gl

(a)
(b)
(c)
(d)

134
Fad 1
2 3R 4
3 3R 4
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7T4. Addition of ethylene dibromide to 77. People suffering from ‘anorexia

petrol nervosa’
{a} zcreases the octane number of fa) develop paralysis
el
fb) helps elimination of lead oxide (b) show poor reflex
(¢} removes the sulphur {c) cannot speak properly
compound in petrol (d) eat very little and fear gaining
(d) serves as a substitute of tetra- weight
ethyl lead

78. Match List-I1 with List-II and select
the correct answer using the code
given below the Lists :

List-I List-If

{Hydroelectric (Location in the map)

-

75. Which of the following statements
regarding the duration of day and
night is correct?

{a) Difference is least near the
Equator and progressively
increases away from it

(b) Difference is maximum at the A. Srisailam
Equator and progressively
decreases away from it

_ . ) B. Sabarigiri
fc) Difference is least at the Tropics
and progressively increases
towards the Equator and Poles C. Hirakud 5
{d) Difference is maximum at 3. |
the Tropics and progressively )
decreases towards the Equator D. Sileru
and Poles
Code :

76. The position, relative size and nature
of the image formed by a concave.
lens for an object placed at infinity fa) A

+ 0
S w)

are respectively 3 1
a) at focus, diminished and
“ virtual (k) A B ¢ b
3 4 1 2
b} at focus, diminished and real
{c)] between focus and optical fe) g 4B f ?
centre, diminished and virtual
(d) between focus and optical d) A B C D
centre, magnified and real 2 1 4 3
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74. RN SRAWEE W A # em e

£ &7

(o) TE e F AR SO0 B gQ@E@ T

(b) T T MwES F fawio & v
IR

(c) Tg Yde A 4 gew AP = Few
I

77, oty dfdwr @ difea o # wn @

et 7

(o) ST smena faerfla @ g &

(b) T g wftadar @ oot ®

(c) 3 ud v ¥ Tl A W

(d) A 9gd FA @R § R IR I TG

(d) a% e S % wimnm & S| 1 ST T e §

TR
78. -1 % gE-11 F |y gafew Hin ik
75. R ok Ta ) aEl A Tt HeffE gt % HR Ry e g w1 T wCad
ot # A HT-w w37 s g : -
{a) vEeRE % Tz s Fan B 3 '
i TEd [ W gu W wga -1 Hfi-11
ST & (srerferg, (7t # T
(b) AERE W IR Afwaw @ 3 Wi %)
3 e R T g Tl wed A s

Sk
fc) SOTHEH | FW I BN B

u ymegtEn it yal AR B. meifift
o Sgan S ®
(d) SemEREY | R s B R C. dume
dy quetE sogE fosi
paiion A AEIGHE
D. dier
76. 3 W = fivg A, & s@aa &9 T0
Ty e ke & @, awiies —

M R sfafoa =1 @eg, e @

Tm? @ A B C D
(o) PG R, gifta 2R mrh b i 113 j: z
(b) wFE W, g i aeafas 3 4 ) 2
fc) wwa I wwEhEm FE F 99, @ A B C D

i 3R vt 9 4 1 3
(d]mﬁmﬁﬁaﬁ%ﬁﬂﬁ, (d) A B fs) D

arraftia o arafes 2 1 4. 3
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79. Date of manufacture of food items 82. Rachel Carson’s famous book, Silent
fried in oil should be checked before Spring refers to
buying because oils become rancid

(a) geology of terrain where river
due to

. originates

(b) ecology and degradation of a
hot spring due to excessive
tourism

fa} oxidation

(b} reduction
' {c) biodiversity of an unknown

() hydrogenation terrain rich in flora and fauna

(d) the death of songbirds due to

(d) decrease in viscosity Cating insects poisoned with
pesticides

83. What would be the influence on
the weather conditions when in
mid-winter a feeble high pressure

80. No matter how far you stand from a develops over the north-western

. . part of India?
mIrror, your image appears erect,

The mirror is likely to be 1. High and dry winds would blow
outward from this high

. sure area.
fa) either plane or convex pressu ¢

. 2. The northern plain would
(b} plane only ' become cold.

3. Scorching winds {locally called
loo) would blow during the day-
time.

{c) concave

d nv 1
(@) convex only 4. There would be torrential rains

brought by thunderstorms.

81. Veliconda group of low hills is a Select the correct answer using the
structural part of code given below.

(@) Nilgiri Hills @ 1 and 2 only

(b} Western Ghats (b} 2 and 3 only

{c) Eastern Ghats fc} 3 and 4 only

(d) Cardamom Hills {d 1,2, 3 and 4
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79. 39 # T g @ sl @ wlier ¥ uwd

FH fwln affe = v S= o
iR, #ifs dd fma-mft @ s &
THT 1 B &7

fa) IT=IA

(b) T

fc) BTEGRHIE

(d) T ¥ it

80. X foreft &dur & 3 Rt oft g w wen

| W gfafar diw o 3 ®, 9 o9
g0 359 YR =1 Bm?

(@) AT AHAS T ITA
(b) FaA THAA
() F=EaA

(d) HTR I

g1, fm wfedt amen dfvmer wg fraw

AT fawm 37
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82. W s H WEg qwe, @R B

o fafde w87

(@) @ s i N B, @ @ 7
TR gl R

(b} fewg weq F wrw et My =
# qitffad o saw frfem

fc) Tt 3R wfvrema @ wys foedt
Iy v A R fafavan

(d) dernlia A o fret A F
I T qiEEt it da

83, Ofe wa & Iwe-ufindt am w, meq 3fa A

i 3= T Rk & o=, @ 9w B
IS W AT UNTE gL Y

1. EIETTE & 8 & I f! TE
I R I 7o Fertt]
2. I8 fEE evel B sem|

3. 7 & v 4 gawn awht gand
(s &9 8  ®& 94 awe)
Esut]

4, dfeq F& g1 WS T gEEET aw
gt

™ Ry T g = WM W EE W
EIEM

(a) Faa 1 32
(b) FHaer 2 3R 3
(c) Faa 33N 4

d 1,2, 334

[P.T.O.




84, When an incandescent electric bulb

glows

{a) the electric energy is
completely converted into light
energy

(b) the electric energy is partly
converted into light energy and
partly into heat energy

{(c) the light energy is converted
into electric energy

(d) the electric energy is converted
into magnetic energy

85. Which method of water purification

does not kill microorganism?
{a} Boiling

{b) Filtration

fc} Chlorination

{d) UV-irradiation

86. Which one of the following is a land-

locked harbour?
(a) Vishakhapatnam

(b) Ennore
(¢ Mumbai
(d) Haldia

87. Which of the following statements

is/are correct?
1. Amnion contains fluid,

2. Ultrasound scan can detect the
sex of an embryo.

Select the correct answer using the
code given below.

{a) 1 only

{b} 2 only

{c) Both 1 and 2
{d) Neither 1 nor 2
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88. Iron sheet kept in moist air gets

covered with rust. Rust is

fa)] an element

fb) a compound

{c} a mixture of iron and dust

{d) a mixture of iron, oxygen and
water

89. You are asked to jog in a circular

track of radius 35 metres. Right at
one complete round on the circular
track, your displacement and the
distance covered by you are
respectively

fa) zero and 220 metres
(b} 220 metres and zero
{c) zero and 110 metres

fd) 110 metres and 220 metres

90. Consider the following statements ;

1. Weathered rock with change of
volume is called saprolite.

2. The oprocess of landscape
formation by deep weathering
followed by stripping of the
saprolite is called etching.

Which of the statements given
above is/fare correct?

{a) 1 only
(b) 2 only
{¢) Both 1 and 2

(d) Neither 1 nor 2




84, w= awdy foe oew dfwm @ 8, 7
) Toga o plam ywm = 3
qfafda it
(b} Torgm = otifts w9 & wEw o=t
F 3l i w0 @ aw = A
qfafda gl

(c) webre St feregg ot # wftafda et
2

(d) g o= geeha T # uiEfda
At 2

85. WE-TGA H FA-A e gewsfiat H qE
TE e

faj wHA

(b) TER
(c) Tmd
(d) Efesa

87. Poftifas =t § @ SR-0/2 T &/E0
1. Jcd & W B |
2. wiyerwly wudtegm fe qm &
fom = G = wwa gl
fo fir W g W oW W IW
g
(a) Fad 1
(b) FER 2
fc) 1323
@) FM1MAA2
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88, W ar # wh 1 e F TR W 5 @

ST 81 S

(a) T HEa §

(b) T N R

(c) g N g o uw faww @

(d) e, AiadcH ot w7 =1 @ o
2

89, JU# 35 HixX B & T JAER W T

ek A e H FE T 2| FAHR 9
W iF T "G@ [ W A T AGH
e oft e @@ B T g wE
foReet gl ?

{a) YA I 220 HHX
(b) 220 A N YA
fo) I3 I 110 HX
(d) 110 "t 3R 220 HK

90. Fr=fifad wuEt w faur it

1. ofed # gftagda @9 & @ smsin
9t YuieTge wEeTwn e

2. mit JuEw T ol WA &
wed 3R weaarg Eege & fauss
R ! Tigre gz 8

TR Al B D -/ w20
(a) ¥ 1 |

(b} FIA 2

¢y 132

(d) A 13AH 2

[P.T.O.




91. Nitric oxide pollution can lead to all

of the following, except
{a) leaf spotting in plants

(b} bronchitis-related
problems in human

respiratory

{¢) production of corrosive gases
through photochemical reaction

{(d] silicosis in human

92. Arrange the locations of four oil

refineries of India from west to east,.
(a) Koyali—Kochi
—Panipat—Mathura
{b} Kochi—Koyali
—Panipat—Mathura
{¢) Koyali—Panipat
—Kochi—Mathura
{dj Koyali—Panipat
~—Mathura—Kochi

93. Match List-I with List-Il and select

the correct answer using the code
given below the Lists :

94. Which of the following statements

relating to
correct?

earthquakes is/are

1. The point of origin of an
earthquake is called the
epicenter.

2. The lines joining the places
which  were affected by
earthquake at the same point
of time are called homoseismal
lines.

Select the correct answer using the
code given below.

fa) 1 only

(b} 2 only

fc) Both 1 and 2

List-T List-II
{Author) (Concept/ Book) ]
A. Hobbes 1. Natural Law (d} Neither 1 nor 2
B. Rousseau 2. ‘Might is Right’
C. Locke 3. Discourse on
Inequality
D. Adam Smith 4. The. Wealth of 95. Which one of the following elements
Nations is present in green pigment of leaf?
Code :
@@ A B C D {a} Magnesium
2 1 3 4
) 2 133 ? E (b} Phosphorus
0 A B C D
4 3 1 2 (C} Iron
d A B C D
4 1 3 2 {d} Calcium
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91. TERF AamEe & wguw ¥ Frafafae af |

A T &, Ry

() v & ouifed

() AT ® Wty @ walEh g
wEd

fc) wEI-varfiEw AffEn 3O dars
gt =1 IO

(d) = # ffanfam

92, 9@ H IR a9 it F
@l afEm ¥ @ H A #i fan § =atem
Eaiid
{a) FPEA-—RITE-—aHTE—ag
(b) A~ —ag
(c) HEAR—IFT—RTE—aYq
(d) FA—IHITa—Iu—aita

93. -1 & -1 & ary gk Fifm iR

it % 2 Ry g = o =
Eﬂtﬁﬁt{:
-1 T-11
(vraw) (R /)
A. @ 1. J=ffs fafy
B. & 2. ‘Mg W Uge
C. ¥ 3. fe=rnd otfa Fiwfad
D. WAf@Y 4. 309 16 I
@
@@ A B C D
2 1 3 4
hj A B C D
2 3 1 4
g A B C D
4 3 1 2
d A B C D
4 1 3 2
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94, ywm-grft fefafes wo@ # @
F-|/9 e R/R7

1. @ & 3w g | e FR
;]

2. @%‘Tmmwﬂwﬁawﬁ
1 e arh @Rl N ag-yF
@ FEd 2

R fir g W owER W W
I

(@) FE@ 1
(b) a2
c) 1322

(d) 31T F2

95, frffem & & F-W & [EeE W &
® ol 1 f@m war 27

(a) Dfifirm
(b) WERH
(c) 8

(d) Fcamm
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96. Match List-I with List-Il and select 98. Which one of the following gases is
the correct answer using the code supporter of combustion?
given below the Lists :
fa)j Hydrogen

List-1 List-IT

(Gland) (Hormone) (b} Nitrogen
A. Pancreas _ 1. Cortisol {c) Carbon diexide
B. Pituitary 2. Vitamin D (d) Oxygen
C. Adrenals 3. Thyroid stimu-

lating hormone 99. Which of the following is/are west-

D. Kidneys 4. Glucagon flowing river(s) of India?
1. Mahanadi
Code :
2. Krishna
{a) A B C D 3. Narmada
4 3 1 2
4. Cauvery
b) A B C D '
4 1 3 ) Select the correct answer using the
code given below.
(¢ A B C D
2 1
3 4 {fa} 1,2 and 4
{d) A B C D
2 3 1 4 (b) 2 and 3
{fcj 3 only
97. The vegetation type characterized ({d) 1and 3

by (i) a large expanse of grassland
with scattered trees and shrubs,
fii) lying between tropical rain forest
and tropical steppes and deserts
and (iii) flat-topped trees, is called

100. A typical black hole is always
specified by

{a) mid-latitude broad-leaf mixed fa) a (curvature) singularity

forest (b} a horizon

temperate rain forest ‘ )
(b)_ P fc) either a (curvature) singularity
(c] tropical savanna _ or a horizon

(d} mid-latitude grassland {d) a charge
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96. HHI-1 F g1 & @Y YA Hifag ik

gfat & A9 Ry ™ Fe w1 @ = Ed
Wﬁﬁ'ﬂ‘:
-1 -1
(wf2) (etsta)
A. T 1. wifdEie
B. iy of¥ 2. Refm D
C. ftgs 3. AU I
HLiC]
D. 9= 4. T
FE ¢
@@ A B C D
4 3 1 2
‘) A°. B C D
4 1 3 2
g A B C D
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101. Which of the following structures
of a plant is responsible for
transpiration?

{a) Xylem
{b) Root

) Stomata

(d) Bark

102. Which of the following methods
is/are suitable for soil conservation
in hilly region?

1. Terracing and contour bunding
2. Shifting cultivation

3. Contour ploughing

Select the correct answer using the
code given below,

fa) 1 and 3 only
{b) 2 only
{¢) 3 only

{d 1,2 and 3

103. A mobile phone charger is .
{a} an inverter
(b) a UPS
{c] a step-down transformer

(d)] a step-up transformer

B-ABQA-N-FJM/46A

104. Which one of the following is
depositional landform?

{a) Stalagmite

(b} Lapis

{cJ Sinkhole

{d) Cave

106. Which of the following solutions
will not change the colour of blue
litmus paper to red?

1. Acid solution
2. Base solution

3. Common salt solution

Select the correct answer using the
code given below,

fa) 1 and 3

fb) 2 and 3

fe} 1 only

{d) 2 only
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106. Biodiversity is richer in
{a) tropical regions
(b} polar regions
¢/ temperate regions

{d} oceans

107. Which of the following does not
possess a specialized conducting
tissue for transport of water and
other substances in plants?

fa} Marchantia
(b} Marsilea

fc} Cycas

{d] Fern

108. Which one of the following is the
example of subsistence farming?

(aj Shifting cultivation
(b) Commercial farming
)] [Extensive and intensive farming

{d) Organic farming

109. Deficiency of which of the following
elements is  responsible for
weakening of bones?

1. Calcium

2. Phosphorus
3. Nitrogen

4. Carbon

Select the correct answer using the
code given below.

fa} 1 and 2 only

(b} 1 only
{c} 1,2 and 3
(dj 4
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110. Two layers of a cloth of equal

thickness provide warmer covering
than a single layer of cloth with
double the thickness. Why?

{a) Because of the air
encapsulated between two
layers

(b) Since effective thickness of
two layers is more

{(c) Fabric of the cloth plays the
role

(d) Weaving of the cloth plays the
role

111. Which of the following is/are the

stage(s) of demographic transition?

1. High death rate and birthrate,
low growth rate

2. Rapid decline in death rate,
continued low birthrate, very
low growth rate

3. Rapid decline in birthrate,
continued decline in death rate

4. Low death rate and birthrate,
low growth rate

Select the correct answer using the
code given below.

fa} 1 only
(b} 1, 2 and 3
{c/ 3 and 4

{d) 1 and 4
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112. In a forest, animals like voles and
wood lice feed on plant roots and
barks respectively. Among the other
carnivores, foxes, shrews and owls
are present in that forest. Following
predictions are made by a group
of observers who have visited the
forest :

1. If the roots of the tree develop
a disease, then voles and foxes
will starve and not the owls.

2. Population of voles is dependent
on wood lice population through
food web.

3. If owl population declines, it
will indirectly affect wood lice
population.

4. If barks of tree are affected due
to a disease, then reduction of
wood lice will affect the shrew
population forcing owls to eat
more voles.

Which of the above predictions
is/are correct?

@) 1,2 and 4

(b} 2 only

fe} 1 and 2 only

{d) 3
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113. Which of the following is/are direct

source(s) of information about the
interior of the earth?

=

Earthquake wayve

2. Voleano

w

Gravitational force

4. Earth magnetism

Select the correct answer using the
code given below,

fa) 1 and 2 only

(b} 2 only

(¢/ 3 and 4 only

{d 1,2, 3 and 4

114. What causes dough (a mixture of

flour, water, etc.) to rise when yeast
is added to it?

{a) An increase in the temperature

{b) An increase in the amount of
the substance

{¢) An increase in the number of
yeast cells

fd} Release of carbon dioxide gas
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118,

116. In cricket match, while catching a

117,

Which of the following are the
main constituents of granite?

fa} Iron and silica
{b) Iron and silver
{c} Silica and aluminium

{d} Iron oxide and potassium

fast-moving ball, a fielder in

ground gradually pulls his hands

two 118. Which one of the following dams is
constructed across Krishna River?

(a)

(b)

{c)

()

Ukai Dam

Krishnaraja Sagar Dam

Srisailam Dam

Mettur Dam

119. A metal screw-top on a glass bottle

the which appears to be stuck could be

backwards with the moving ball to

reduce the velocity to zero. The act (a)
represents
(aj Newton’s first law of motion (b)

(b) Newton's second law of motion

c)

fc) Newton’s third law of motion

(d)

(d) law of conservation of energy

Two
together by

fa) hydrogen bonds
(b) covalent bonds
{c) electrostatic force

(d) wvan der Waals’ forces
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strands of DNA .- are held

opened by using the fact that

the metal expands more than
the glass when both are heated

the metal and glass expand
identically when heated

the metal shrinks when heated

both metal and glass shrink
when cooled

120. Among the following animals, choose

the one having three pairs of legs.

(a)

(b}

(c)

(d)

50

Spider

Scorpion

Bug

Mite
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